Mnowagb NOKpbITUS 0,880 M2 Ob6bem getanu 0,0476 M3

Mnowage npuknerikn| 0,470 M?  |[Konuuecteo mynbTiwmnos| 3 LUT.

Buao cnesa
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Mnowaab NOKpbITUA

1,103 m*

Ob6bem getanu

0,0596 m°

Mnowaanb NPUKIENKN

0,589 m*

KonnyectBo MynbTULLINNOB 3 LWr.

Bua cnesa
(MacwTtab 1:2)
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Mnowaab NOKpbITUA

0,511 m?

Ob6bem getanu

0,0264 m°

Mnowags npuknerikn| 0,261 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.
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Mnowaab NOKpbITUA

0,51 1 M2 Ob6bem getanu

0,0264 m°

Mnowaanb NPUKIENKN

0,261 M?  |[Konuuectso MYIbTULLNNOB

2 LWT.
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Mnowagb NOKpbITUS 0,685 M2 Ob6bem getanu

0,0358 m°

Mnowags npuknerkn| 0,354 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.
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Mnowaab NOKpbITUA

0,685 m?

Ob6bem getanu

0,0358 m°

Mnowaanb NPUKIENKN

0,354 M?  |KonuuecTso MYJbTULLINMNOB

2 LWT.
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